% 37 % AFAS I Y S 4 )

ke I 493: vix |
(30+5+%)><§= (40+10+%)><%=

40(%+%)+10= (9+1—§)x%=

12(%-%% = (70+10+§)><%:

60(%—§)+10= 40(§+§)+8=

www.snowmath.com


https://www.snowmath.com

408 7 BT DY RIS S (T 5 55%)

4
38 8
+5+ )X == —=2—
(B0+5+3)% 57157273
31 »
05+3)710=5=73

3 3 27 2
60(2 5) 0 5 55
1 12 1 1
2 25 2 20

H #A:

1 1 3 1
40+10+=)x == == 1=
( 2) 3 2 2

2
+10+ = == — =3—
(70=10+2)= 5= 15 =310

2 2
40(=+2)+8=4
(G+3)

301
4= - 2)+11=4
G-3)

www.snowmath.com

ﬁ]\

.



https://www.snowmath.com

